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QUESTION 1

How often are IS-IS Hello packets transmitted? 

A. 10 seconds for DIS; 3 seconds for non-DIS 

B. 10 seconds for all routers 

C. 3 seconds for DIS; 9 seconds for non-DIS 

D. 9 seconds for DIS; 3 seconds for non-DIS 

Correct Answer: C 

 

QUESTION 2

You want to ensure that an LSP from router A to router D always goes through router C, which is two hops away. The
ERO is configured as _____. 

A. D loose 

B. C loose 

C. C strict 

D. B strict 

Correct Answer: B 

 

QUESTION 3

The monitor traffic command closely resembles what UNIX based utility? 

A. ps -x 

B. ls -a-l 

C. passwd 

D. tcpdump 

Correct Answer: D 

 

QUESTION 4

What are three purposes of a PSNP? (Choose three.) 

A. to ensure a neighbor is still in the Up state 
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B. to request a copy of a missing LSP on a broadcast network 

C. to acknowledge LSPs from a neighbor on a point-to-point network 

D. to maintain the link-state database synchronization 

E. to tear down an adjacency 

Correct Answer: BCD 

 

QUESTION 5

Which three BGP states are associated with establishing TCP connectivity? (Choose three.) 

A. Open Sent 

B. Active 

C. Idle 

D. Established 

E. Connect 

Correct Answer: BCE 
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